Data analysis of measurements of beam stability
threshhold with antidamper induced instability in the
presence of octupole non-linearity, March 30, 2019
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Growth times for zero and 2 A octupole curernts are 195 and 64 turns, respectively. Beam currents are 2.7 and 2.6 mA.
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Analysis of instability induced by the antidamper
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Instability simulations

Generate initial distribution:

Np:=1000 n:=0.N,~1 x0:=morm(N,,0,00)+ X, p0 := morm(N,,,0,5¢)

op = 088  x,:=.0001

Betatron tune and it dependence on action
Moo= 2103 dpdI := 0.005 Apert := 3

Feedback parameters
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